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Meiosis

involves crossing over

Mitosis

produces diploid cells

produces 4 cells

involves one division Chromosomes are visible

reduces chromosome number
forms gametes

occurs in animals

produces genetically identical cells
Forms skin cells

occurs in plants

cell membrane pinches in
(cytokinesis)

new chromosome combination

produces two cells
goes through 2 divisions

produces haploid humber

forms somatic cells S
type of cell division

Forms sperm & egg

involves PMAT
produces genetically unique cell
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